Tutorial 5
1. Maxlever and Nolever are identical firms in all ways except that Maxlever employs debt in its capital structure and Nolever does not. Earnings before interest and taxes (EBIT) for each firm are expected to be $10,000. The value of the equity if Maxlever is $40,000, and the value of the equity in Nolever is $80,000. Maxlever has 1,000 shares outstanding and Nolever has 2,000 shares outstanding. Maxlever's bonds have a market value and a face value of $40,000. The interest rate is 10% and there are no taxes.

Compute EPS, ROE, and share price for Nolever and for Maxlever.

2. XYZ Company agreed for a loan of Rs 12 million with AB Bank, at 12%, that is to be repaid in 8 year-end equal instalments. How much should XYZ pay as the loan instalment? What must be the balance of the loan left after paying 2nd instalment? 

3. Company A’s latest annual dividend of $1.25 a share was paid yesterday and maintained its historic 7 percent annual rate of growth. You plan to purchase the stock today because you believe that the dividend growth rate will increase to 8 percent for the next three years and the selling price of the stock will be $40 per share at the end of that time.

a. How much should you be willing to pay for the “A” stock if you require a 12 percent return?











b. What is the maximum price you should be willing to pay for the “A” stock if you believe that the 8 percent growth rate can be maintained indefinitely and you require a 12 percent return?











c. If the 8 percent rate of growth is achieved, what will the price be at the end of Year 3, assuming the conditions in Part b?

4. An investment will increase in value by 270% over the next 17 years.  What is the annual interest rate which, when compounded quarterly, provides this return?




 
5. Anand heads the portfolio management schemes division of Phoenix Investments, a well known financial services company. Anand has been requested by Arrow Technologies to give an investment seminar to its senior managers interested in investing in equities through the portfolio management schemes of Phoenix Investments. Manish, the contact person of Arrow Technologies, suggested that the thrust of the seminar should be on equity valuation. Anand has asked you to help him with his presentation.

To illustrate the equity valuation process, you have been asked to analyze Acme Pharmaceuticals which manufactures formulations and bulk drugs. In particular, you have to answer the following questions:

a) What is the general formula for valuing any stock, irrespective of its dividend pattern? 

b) What is the required rate of return on the stock of Acme Pharmaceuticals? Assume that the risk free rate is 7%, the market risk premium is 6%, and the stock of Acme has a beta of 1.2.




c) Assume that Acme Pharmaceuticals is a constant growth company which paid a dividend of Rs 5 yesterday and the dividend is expected to grow at the rate of 10% per year forever.

d) What is the expected value of the stock a year from now ?




e) What is the expected dividend yield and capital gains yield in the first year ?  

f) If the stock is currently selling for Rs 110, what is the expected rate of return on the stock? Assume D0 = Rs 5 and a constant growth rate of 10%.





g) Assume that Acme pharmaceuticals is expected to grow at a supernormal growth rate of 25% for the next 4 years, before returning to the constant growth rate of 10%. What will be the present value of the stock under these conditions ? What is the expected dividend yield and capital gains yield in year 2 








6. B&B company required Rs. 20,00,000 in next year. Following are the two feasible financial plans. 

	Financial plan 
	I 
	II 

	Equity shares of Rs. 100 each
	Rs. 20,00,000 
	10,00,000

	8% Debentures 
	
	10,00,000

	Total 
	20,00,000
	20,00,000


Required: 

(I)
Calculate the indifference point of EBIT assuming 50% tax rate. 


(II) Which plan is profitable if Jyoti Company’s EBIT is Rs. 200,000? 


(III)Which plan is profitable if Jyoti Company’s EBIT is Rs. 120,000?


7. Suppose today is January 1, 2009; on January 1, 1999, MAM Industries issued a 30-year bond with a 9% coupon and a $1,000 face value, payable on January 1, 2029. 
a) The bond now sells for $915. Use this bond to determine the firm's after-tax cost of debt. (Assume a 34% tax rate.)









b) Suppose MAM Industries also issued a 30-year bond five years ago; it has a $1,000 face value and a 10% coupon. If the bond currently sells for $1,000, what is the after-tax cost of debt capital, as indicated by the market value of this outstanding bond?



c) Suppose five years from now the MAM bond described in the Problem (b) has a market price of $1,100. What is the after-tax cost of debt capital at that time?



d) MAM Industries just declared a dividend of $3.50 per share of common stock. The current stock price is $25 per share, and the dividend is expected to increase at a rate of 4% per year for the foreseeable future. Use the dividend growth model approach to compute the cost of equity capital. 



e) Suppose the market risk premium is 8.5%, the risk-free rate is 7.0%, and MAM Industries has ß (beta) equal to 1.35. Use the SML to compute the firm's cost of equity capital.

f) Assume the debt-equity ratio for MAM is 0.50. Compute the WACC for MAM Industries. [Use cost of debt from (b) and cost of equity from (e)]





8. Phoenix Company borrows Rs 500,000 at an interest rate of 14 %. The loan is to be repaid in 4 equal installments payable at the end of each of the next 4 years. Prepare a loan amortization schedule. 
9. Parnelli Product’s stock is currently selling for Rs 45 a share. The firm is earning Rs 5 per share and is expected to pay a year-end dividend of Rs 1.80.

If Parnelli reinvests retained earnings to yield the expected rate of return, what will be the next year’s EPS ? 







10. The Tanner Company’s cost of equity is 18%. Tanner’s before tax cost of debt is 12%, and its tax rate is 40%. Using the following balance sheet, calculate Tanner’s after tax weighted average cost of capital. (Assume that this accounting balance sheet also represents Tanner’s target capital structure) – All figures are in Ten thousands.

	Assets
	Amount
	Liabilities
	Amount

	Cash
	Rs 100
	Accounts Payable
	Rs 200

	Accounts Receivables
	200
	Accrued taxes due
	200

	Inventories
	300
	Long term debt
	400

	Plant and Equipment, net
	1800
	Equity
	1600

	Total Assets
	Rs 2400
	Total Liabilities
	Rs 2400


· Also Find out the average cost of capital of Tanner if it has Rs 2 million requirement of capital and 20% of the equity is coming from retained earnings. Assume that the cost of retained earnings is 18% and cost of new equity is 20% more than the cost of retained earnings. Take all other things same as above.
· Find out the average cost of capital of Tanner if it has Rs 2 million requirement of capital and Rs 0.3 million of the equity is coming from retained earnings. Assume that the cost of retained earnings is 18% and cost of new equity is 20% more than the cost of retained earnings. Take all other things same as above.
11. Microtech Corporation is expanding rapidly, and it currently needs to retain all of its earnings. Hence, it does not pay any dividends. However, investors expect Microtech to begin paying dividend, with the first dividend of Rs 1.00 coming 3 years from today. The dividend should grow rapidly at a rate of 50% per year during years 4 and 5. After year 5, the company should grow at a constant rate of 8% per year. 
a. If the required return on the stock is 15%, what is the value of the stock today?
b. What is the value of the stock if first dividend next year is Rs 1.00 and it grows at 50% per year for first two years, after two years, the company should grow at a constant rate of 8% per year, and the required rate of return on the stock is 15%.
c. What is the value of the stock if the dividend paid two years ago was Rs 1.00 and it has been growing at 50% rate since last five years, which will continue till next two years. After two years, the company should grow at a constant rate of 8% per year, and the required rate of return on the stock is 15%.
12. You are provided with the information below:

	Sales 
	Rs  430,000

	Less: Variable costs 
	107,500

	Less: Fixed Costs 
	150,000

	EBIT
	172,500

	Less: Interest
	11,000

	EBT
	161,500

	Less: Tax
	64,600

	Net Income After Tax
	96,900

	EPS
	9.69


Required:

a. By how much the Sales should be increased, if EPS is to be doubled? 



b. By how much the Sales should be increased, if EBIT is to be trippled ? 

13. As an investment advisor, you have been approached by a client called Peter for advice on his investment plan. He is 30 years old and has Rs.300,000 in his bank. He plans to work for 20 years and retire at the age of 50, so that he can pursue his hobbies and travel widely in his post-retirement period. His present salary is Rs.600,000 per year. He expects his salary to increase at the rate of 12 percent per year until his retirement. 

Peter has decided to invest his bank balance and future savings in a balanced mutual fund scheme which he believes will provide a return of 10 percent per year. You concur with his assessment. 

Peter seeks your help in answering several questions given below. In answering these questions, ignore the tax factor.

(i) 
Once he retires at the age of 50, he would like to withdraw Rs. 1,000,000 per year for his consumption needs for the following 30 years (His life expectancy is 80 years). Each annual withdrawal will be made at the beginning of the year. How much should be the value of his investments be when he turns 50, to meet his retirement need?

(ii) 
How much should Peter save each year for the next 20 years to be able to withdraw Rs.1,000, 000 per year from the beginning of the 21st year for a period of 30 years? 
  Assume that the savings will occur at the end of each year. Remember that he already has some bank balance. ( Approximate it to the nearest ‘000)

Peter needs 10,369,700 when he reaches the age of 50. His bank balance of Rs 300,000 will grow to:

300,000 (1.10)20 = 2,018,400

(iii) 
Suppose Peter wants to donate Rs.800,000 per year in the last 10 years of his life to a charitable cause. Each donation would be made at the beginning of the year. Further, he wants to bequeath Rs. 3,000,000 to his son at the end of his life. How much should he have in his investment account when he reaches the age of 50 to meet this need for donation and bequeathing? (Approximate it to the nearest ‘000.)

14. An investment with one initial cash outflow at time zero promises the following cash inflows:



End of Year

Cash Flow


       1


    37,000



       2


    42,000



       3


    48,000



       4


    35,000

The internal rate of return on this investment has been computed to be 16%.  The firm’s required rate of return on this investment is 12%.

a. What is the initial cash outflow associated with the investment?



b. Compute the NPV of this investment.






15. A firm is considering the following mutually exclusive investment projects. Project A requires an initial outlay of $500 and will return $120 per year for the next seven years. Project B requires an initial outlay of $5,000 and will return $1,350 per year for the next five years. The required rate of return is 10%.  Find the profitability indices of the projects. Comment about the acceptability of the projects if they are independent of each other.
16. A company is considering the acquisition of production equipment which will reduce both labor and materials costs. The cost is $100,000 and it will be fully depreciated on a straight-line basis over a four-year period. However, the useful life of the equipment is five years and it is expected to have a $20,000 salvage value at the end of five years. Operating costs will be reduced by $30,000 in the first year and the savings will increase by $5,000 per year for years 2, 3 and 4. Due to increased maintenance costs, savings in year 5 will be $10,000 less than the year 4 savings. The equipment will also reduce net working capital by $5,000 throughout the life of the project. The firm's tax rate is 35% and the firm requires a 16% return. Consider the tax effect on sales proceeds on the final year.
a) Compute net projected cash flows for the project from year 0 to 5.



b) Compute the NPV and IRR for the project.




          

17. As a new MBA working for a Silicon Valley internet company, you want to buy a Lexus LS430 that costs $54,000. You also need $4,000 for new wardrobe and $24,000 for one year's rent on a one-bedroom apartment. These expenses must be paid immediately. Your salary this year will be $80,000 plus proceeds from cashing out some stock options received as a signing bonus. In addition, routine living expenses will be $60,000 paid at year end. You plan to borrow against income to pay for current consumption. If income arrives at year end, how much will you need from stock options in order to have enough funds to pay off the loan? The market interest rate is 15%.







18. The Fast Byte Co. has recently completed a $250,000, two-year marketing study. Based on the results of the study, Fast Byte estimates that 5,000 of its new electro-optical switching hardware could be sold annually over the next 6 years, at a price of $10,000 each. Variable costs per unit are $5,500, and fixed costs total $6.0 million per year.


Start-up costs include $18 million to build production facilities, $2 million for land, and $4 million in net working capital. The $18 million facility will be depreciated on a straight-line basis to a value of zero over the six-year life of the project. At the end of the project’s life, the facilities (including the land) will be sold for an estimated $6 million. The value of the land is not expected to change during the six-year period.

Finally, start-up would also entail tax-deductible expenses of $0.5 million at year zero. Fast Byte is an ongoing, profitable business and pays taxes at a 40% rate. Fast Byte believes that 20% is the appropriate opportunity cost for projects of this type.

(a) What operating cash flow does Fast Byte’s project generate for years 1 through 6?

(b) What is the initial cash flow at year 0?

(c) What is the terminal year non-operating cash flow?

(d) What are the internal rate of return and net present value of the project?
19. Future Limited is considering a project with an investment outlay of Rs 200 million. This consists of Rs 150 million on the Plant and Machinery and Rs 50 million on working capital. The entire outlay will be incurred in the beginning. The life of the project is expected to be 7 years. At the end of the 7 years, fixed assets will fetch a net salvage value of Rs 48 million whereas working capital will be liquidated at its book value. The project is expected to increase the revenues of the firm by Rs 600 million per year. Additional expenses are expected to be Rs 350 million per year (including all items other than depreciation, interest and tax). The tax rate is 30% and plant and machinery will be depreciated at 25 % per year as per the declining balance method. The discount rate used by the firm to evaluate capital projects is 15 %. Calculate the IRR of the project and decide if the firm should accept the project. [Note: Do not consider the tax treatment on difference between Book Salvage Value and Cash Salvage Value]

Best of Luck

















